June 2000 Disproportionate Share Payments

Chapter 1187.111 Disproportionate Share Payments for full year cost reports ending June 10, 2000. Accepted as of December 10, 2001.

Name	Reported Available Days		July/June 2000 Paid Claims	Group	Per Diem Doubled	Total Payment
ABINGTON CREST NURSING AND REHAB CENTER	29,280	26,078	19,136			\$0.00
ALLIED SERVICES SKILLED NURSING CENTER	137,616	133,477	102,142			\$0.00
AMBLER REST CENTER	36,600	27,923	17,260			\$0.00
ARBUTUS PARK MANOR	52,338	48,436	23,659			\$0.00
ARTMAN LUTHERAN HOME	22,326	21,520	3,523			\$0.00
ASHTON HALL NURSING AND REHAB CENTER	54,168	46,843	35,935			\$0.00
AUTUMN GROVE CARE CENTER	37,698	34,633	25,160			\$0.00
BALA NURSING AND RETIREMENT CENTER	65,880	59,423	43,126			\$0.00
BALANCED CARE BLOOMSBURG	24,156	23,216	13,730			\$0.00
BALANCED CARE, KINGSTON	23,790	21,739	10,286			\$0.00
BALANCED CARE, MID VALLEY	13,908	13,479	5,847			\$0.00
BALDOCK HEALTH CARE CENTER	43,920	34,979	22,124			\$0.00
BALDWIN HEALTH CENTER, INC	73,000	52,291	31,249			\$0.00
BALL PAVILION, THE	31,110	30,146	20,603			\$0.00
BAPTIST HOME OF PHILADELPHIA, THE	75,396	70,865	40,956			\$0.00
BAPTIST HOMES NURSING CENTER	46,116	45,495	23,086			\$0.00
BARNES-KASSON COUNTY HOSPITAL SNF	21,228	20,468	16,014			\$0.00
BEAR CREEK HEALTH CARE CENTER INC	11,712	9,748	7,940			\$0.00
BEAVER VALLEY NURSING AND REHAB CENTER	43,920	41,128	25,451			\$0.00
BELAIR HEALTH AND REHABILITATION CENTER	37,698	34,848	21,989			\$0.00
BERKSHIRE CENTER	47,580	46,839	28,621			\$0.00
BERWICK RETIREMENT VILLAGE NRSNG CTR I	43,920	40,876	31,707			\$0.00
BERWICK RETIREMENT VILLAGE NRSNG CTR II	43,920	38,501	23,619			\$0.00
BISHOP NURSING HOME, THE	60,024	57,664	50,315	С	\$2.28	\$114,718.20
BLOOMSBURG HEALTH CARE CENTER	55,162	39,621	28,578			\$0.00
BOULEVARD NURSING HOME	49,410	44,780	40302	Α	\$5.70	\$229,721.40
BRADFORD NURSING PAVILION	34,770	•	22720			\$0.00
BRANDYWINE HALL	65,880	62,586	37,720			\$0.00
BRETHREN HOME COMMUNITY, THE	109,068	103,295	49,285			\$0.00
BRETHREN VILLAGE	67,178	61,425	29,261			\$0.00
BRIARLEAF NURSING AND CONVAL CENTER	65,148	58,448	48,188	Е	\$0.68	\$32,767.84
BROAD MOUNTAIN NURSING AND REHAB CENTER	47,214	41,131	30,870			\$0.00
BROOKMONT HEALTH CARE CENTER INC	43,554	41,953	25,979			\$0.00
BUCHANNAN COMMONS	39,894	28,966	18,502			\$0.00
BUCKINGHAM VALLEY REHAB AND NURSING CTR	47,580	43,671	28,568			\$0.00
BUCKTAIL MEDICAL CENTER	16,470		11,780			\$0.00
CALVARY FELLOWSHIP HOMES, INC	16,470	15,499	5,780			\$0.00
CARE PAVILION OF WALNUT PARK, INC	144,936	134,996	122,972	Α	\$5.70	\$700,940.40
CARING PLACE, THE	36,600	34,927	20,701			\$0.00
CATHEDRAL VILLAGE	54,020	51,765	8,892			\$0.00
CHARLES COLE MEMORIAL HOSPITAL ECF	20,130	19,603	15,518			\$0.00
CHARLES M. MORRIS NSG	58,194		41,758			\$0.00
CHATHAM ACRES, INC	44,286	28,871	26,259	-	# 0.00	\$0.00
CHELTENHAM NURSING AND REHAB CENTER	93,330	85,027	73,814	С	\$2.28	\$168,295.92

CHESTER CARE CENTER	108,336	91,206	82,049		\$0.00
CHRIST THE KING MANOR	58,560	54,607	35,330		\$0.00
CHRIST'S HOME RETIREMENT CENTER	8,784	8,425	6,185		\$0.00
CHURCH OF THE BRETHREN HOME	49,044	45,581	34,390		\$0.00
CLIVEDEN CONVALESCENT CENTER	65,880	59,687	54,496	Α	\$5.70 \$310,627.20
CONCORDIA LUTHERAN MINISTRIES	49,776	47,920	20,146		\$0.00
CONNER-WILLIAMS NURSING HOME	18,980	15,710	12,323		\$0.00
CONTINUING CARE NURSING AND REHAB CORP	20,130	18,181	16,309	Α	\$5.70 \$92,961.30
COUNTRYSIDE CONVAL HOME LTD PARTNERSHIP	17,568	16,574	7,652		\$0.00
CRESTVIEW CENTER	65,880	62,367	51,818	E	\$0.68 \$35,236.24
CUMBERLAND CROSSINGS	21,594	20,672	7,130		\$0.00
DAR WAY NURSING HOME, INC	25,620	23,732	18,080		\$0.00
DAVIS MANOR	38,796	33,838	22,258		\$0.00
DOCK TERRACE	26,352	25,152	7,342		\$0.00
DONAHOE MANOR	26,280	25,969	17,884		\$0.00
DRESHER HILL NURSING CENTER	43,188	41,116	25,951		\$0.00
DUBOIS NURSING HOME	65,880	47,919	33,402		\$0.00
EDGEHILL NURSING AND REHAB CENTER	21,960	21,149	16,382		\$0.00
ELK HAVEN NURSING HOME	43,920	39,203	25,878		\$0.00
ELKINS CREST HEALTH AND REHAB CENTER	54,900	50,470	30,053		\$0.00
ELLEN MEMORIAL HEALTH CARE CENTER	53,436	45,493	20,389		\$0.00
ELM TERRACE GARDENS	23,790	23,156	5,090		\$0.00
ELMIRA JEFFRIES MEMORIAL HOME MGR	65,880	62,023	56,616	Α	\$5.70 \$322,711.20
FAIR WINDS MANOR	24,156	19,806	9,738		\$0.00
FAIRMOUNT HOMES	43,920	42,401	15,026		\$0.00
FAIRVIEW CARE CENTER OF BETHLEHEM PIKE	65,880	61,850	52,260	D	\$1.38 \$72,118.80
FAIRVIEW CARE CENTER OF PAPERMILL ROAD	47,214	45,843	39,721	С	\$2.28 \$90,563.88
FELLOWSHIP MANOR	44,286	43,345	17,423		\$0.00
FORBES NURSING CENTER	49,044	43,333	24,292		\$0.00
FOREST CITY NURSING CENTER	51,240	46,591	31,206		\$0.00
FOREST VIEW	31,476	29,150	13,082		\$0.00
FRIENDLY NURSING HOME - PITMAN	17,568	16,187	13,834	D	\$1.38 \$19,090.92
FULTON COUNTY MEDICAL CENTER LTCU	20,862	20,627	16,329		\$0.00
GEORGE L HARRISON HOUSE OF EPISCOPAL HSP	12,810	12,149	8,246		\$0.00
GERMANTOWN HOME	65,880	60,633	47,259		\$0.00
GNADEN HUETTEN NURSING AND CONVAL CENTER	33,306	32,400	22,400		\$0.00
GOLD STAR NURSING HOME	37,332	26,139	22,528		\$0.00
GOLDEN HILL NURSING HOME, INC	74,664	63,376	49,674		\$0.00
GOLDEN SLIPPER CLUB UPTOWN HOME FOR AGED	87,840	83,447	56,075		\$0.00
GOLFVIEW MANOR NURSING HOME	24,522	22,151	15,795		\$0.00
GOOD SAMARITAN NSG CARE CTR-JOHNSTOWN	26,718	18,918	13,009		\$0.00
GOOD SHEPHERD HOME LTC FACILITY, INC	43,506	43,054	42,016	Α	\$5.70 \$239,491.20
GRAND VIEW HOSPITAL SKILLED NURSING FAC	7,320	6,403	132		\$0.00
GRANDVIEW HEALTH HOMES, INC	64,416	48,908	35,810		\$0.00
GREEN ACRES - IVY HILL NURSING HOME	55,266	49,997	39,306		\$0.00
GREEN HOME, INC, THE	44,652	34,072	23,471		\$0.00
GREENLEAF NURSING HOME AND CONVAL CENTER	47,580	40,737	33,084		\$0.00
GROVE MANOR	21,594	19,442	8,656		\$0.00
GUY AND MARY FELT MANOR, INC	14,640	11,991	7,831		\$0.00
GWYNEDD SQUARE CTR FOR NSG & CONVAL CARE	66,246	61,385	39,155		\$0.00
HAMILTON ARMS CENTER	43,920	35,541	25,873		\$0.00
HAMPTON HOUSE	37,960	36,158	28,349		\$0.00
HAVERFORD NURSING & REHABILITATION CTR	40,260	36,785	15,514		\$0.00
2.13 OND HOROMO & REINDIETH HOROMO	10,200	55,700	10,017		ψ0.00

HEARTLAND HEALTH CARE CENTER	81,760	72,922	57,607		\$0.00
HERITAGE HOUSE	18,300	17,208	8,754		\$0.00
HERITAGE NURSING HOME, INC	53,070	51,361	1,608		\$0.00
HERITAGE SHADYSIDE, THE	53,070	48,427	11,932		\$0.00
HIGHLAND CENTER, GENESIS ELDERCARE NTWRK	35,502	32,565	17,899		\$0.00
HIGHLAND HALL CARE CENTER	30,378	23,001	20,544		\$0.00
HIGHLAND MANOR NURSING AND CONVAL CENTER	43,920	40,952	35,233	С	\$2.28 \$80,331.24
HIGHLAND VIEW	21,228	17,801	11,360		\$0.00
HILLCREST CENTER	65,880	62,189	47,641		\$0.00
HOMELAND CENTER	32,940	30,994	8,909		\$0.00
HOMESTEAD CENTER	73,200	53,961	40,170		\$0.00
HOMESTEAD VILLAGE, INC	21,960	19,313	5,410		\$0.00
HORIZON SENIOR CARE	43,188	31,194	24,769		\$0.00
HUMBERT LANE HEALTH CARE CENTER	43,920	36,929	25,382		\$0.00
HUNTINGDON MANOR INC	34,038	25,904	21,170		\$0.00
IHS GREENERY OF CANONSBURG	51,240	43,777	25,507		\$0.00
IMMACULATE MARY HOME	108,336	102,806	68,822		\$0.00
INDIAN CREEK NURSING CENTER	43,800	37,083	27,248		\$0.00
INGLIS HOUSE	108,702	106,087	101,257	Α	\$5.70 \$577,164.90
JEFFERSON MANOR HEALTH CENTER	78,192	61,299	46,123	•	\$0.00
JEWISH HOME OF GREATER HARRISBURG	51,240	46,331	21,410		\$0.00
KEARSLEY LONG TERM CARE CENTER	30,744	28,468	23,505	Е	\$0.68 \$15,983.40
KINKORA PYTHIAN HOME	21,960	19,487	9,507	_	\$0.00
KRAMM HEALTHCARE CENTER, INC	50,508	45,531	35,114		\$0.00
KRAMM NURSING HOME, INC	45,750	36,632	26,145		\$0.00
KUTZTOWN MANOR	51,240	49,995	34,063		\$0.00
LAFAYETTE REDEEMER, THE	43,920	49,993	18,563		\$0.00
LANDIS HOMES	•				\$0.00
	37,698	35,763	14,475		
LANGHORNE GARDENS REHAB AND NURSING CTR	43,920	40,709	29,014		\$0.00
LAUREL MANOR	46,482	24,938	23,415		\$0.00
LAUREL MANOR	21,594	19,275	11,525		\$0.00
LAUREL NIEW VILLAGE	22,326	21,257	15,760		\$0.00
LAUREL VIEW VILLAGE	21,960	21,046	9,889		\$0.00
LEHIGH CENTER	46,848	46,049	26,646		\$0.00
LEMINGTON CENTER	65,880	52,062	38,908		\$0.00
LIBERTY NURSING AND REHAB CENTER	53,290	48,970	25,897		\$0.00
LIFEQUEST NURSING CENTER	51,240	47,789	26,700		\$0.00
LITTLE FLOWER MANOR	46,482	44,490	24,266		\$0.00
LOCK HAVEN HOSPITAL E.C.U.	43,920	36,777	27,464		\$0.00
LUTHERAN COMM AT TELFORD HLTHCRE CTR INC	27,450	26,881	9,759		\$0.00
MAIN LINE NURSING AND REHAB CENTER	67,344	61,884	46,480		\$0.00
MAJESTIC OAKS	65,880	58,516	50,418		\$0.00
MANATAWNY MANOR INC	48,678	43,130	15,145		\$0.00
MANORCARE HEALTH SVCS-KINGSTON COURT	51,465	47,257	20,669		\$0.00
MANORCARE HEALTH SVCS-MERCY FITZGERALD	43,800	40,963	17,801		\$0.00
MANORCARE HEALTH SVCS-YORK NORTH	58,926	55,207	28,835		\$0.00
MANORCARE HEALTH SVCS-YORK SOUTH	48,180	43,338	19,371		\$0.00
MAPLE FARM NURSING CENTER	45,018	38,177	17,000		\$0.00
MAPLEWOOD MANOR CONVALESCENT CENTER	65,880	57,790	48,567		\$0.00
MARGARET E. MOUL HOME	18,980	18,597	18,872	Α	\$5.70 \$107,570.40
MARIAN MANOR CORPORATION	58,014	55,486	30,158		\$0.00
MARINER HEALTH CARE OF NORTH HILLS	20,130	16,350	8,257		\$0.00
MARINER HEALTH CARE OF WEST HILLS	54,900	53,356	33440		\$0.00

MARWOOD REST HOME, INC	31,755	30,174	26,075	С	\$2.28 \$59,451.00
MARY ELLEN CONVALESCENT HOME, INC	18,615	16,529	10,599		\$0.00
MAYO CENTER	88,206	81,935	65,830	F	\$0.48 \$31,598.40
MCMURRAY HILLS MANOR	42,090	35,433	18,068		\$0.00
MEADOW VIEW NURSING CENTER	65,880	52,462	43,579		\$0.00
MEADOWS NURSING CENTER	47,580	40,393	28,096		\$0.00
MEMORIAL HOSPITAL INC SNU	16,656	16,577	11,510		\$0.00
MENNONITE HOME, THE	74,298	68,045	21,090		\$0.00
MERCY DOUGLASS HUMAN SERVICES CENTER	63,945	52,251	41,729		\$0.00
MESSIAH VILLAGE	67,344	62,576	23,025		\$0.00
METHODIST HOSPITAL NURSING CENTER	65,880	62,403	45,076		\$0.00
MILLCREEK MANOR	12,078	9,413	7,689		\$0.00
MINERS MEMORIAL GERIATRIC CENTER	19,398	15,990	11,534		\$0.00
MOSES TAYLOR HOSPITAL S.N.F.	11,712	10,044	2,175		\$0.00
MOSSER NURSING HOME	21,960	20,896	8,378		\$0.00
MOUNT HOPE DUNKARD BRETHREN CHURCH HOME	21,594	19,447	12,055		\$0.00
MOUNT MACRINA MANOR NURSING HOME	51,606	42,124	23,096		\$0.00
MOUNTAIN LAUREL NRC	87,840	76,383	58,632		\$0.00
MOUNTAIN REST NURSING HOME	39,528	36,804	32,954	Α	\$5.70 \$187,837.80
MOUNTAIN VIEW CARE CENTER	65,880	62,867	39,162		\$0.00
MUNCY VALLEY HOSPITAL SNU	50,874	47,234	29,940		\$0.00
NAAMANS CREEK COUNTRY MANOR	32,940	28,624	18,144		\$0.00
NORTHWOOD NURSING AND CONVALESCENT CTR	54,168	46,628	36,934		\$0.00
ORCHARD MANOR, INC	44,286	29,267	20,829		\$0.00
ORWIGSBURG CENTER	47,580	43,283	31,086		\$0.00
OSPREY RIDGE HEALTHCARE AND REHAB CENTER	29,646	27,301	20,418		\$0.00
PARK PLEASANT HEALTH CARE FACILITY	45,018	42,934	37,754	В	\$3.86 \$145,730.44
PASSAVANT RETIREMENT AND HEALTH CENTER	57,828	52,703	20,533		\$0.00
PEMBROOKE HEALTH AND REHAB RESIDENCE	87,840	74,949	63,295		\$0.00
PENN CENTER FOR REHABILITATION AND CARE	45,384	43,081	36,591	D	\$1.38 \$50,495.58
PENNSYLVANIA MEMORIAL HOME	39,528	29,415	20,765		\$0.00
PETER BECKER COMMUNITY	34,404	33,087	14,921		\$0.00
PHOEBE BERKS HEALTH CARE CENTER, INC	43,920	43,115	15,488		\$0.00
PHOEBE HOME, INC	144,570	141,932	60,478		\$0.00
PICKERING MANOR HOME	17,202	16,549	5,401		\$0.00
PINE RUN HEALTH CENTER	68,076	62,461	28,544		\$0.00
PINECREST MANOR	50,508	46,566	30,064		\$0.00
PINEY MOUNTAIN HOME	33,672	23,048	17,590		\$0.00
PINNACLE HEALTH ECF	16,104	12,673	9,029		\$0.00
PINNACLE HEALTH ECF HB	16,104	10,587	400		\$0.00
PINNACLE HEALTH SNU - SEIDLE	12,810	11,800	6,385		\$0.00
PROSPECT PARK HEALTH AND REHAB RESIDENCE	65,880	59,467	47,882	F	\$0.48 \$22,983.36
QUARRYVILLE PRESBYTERIAN HOME	57,828	40,575	20,175		\$0.00
REDSTONE HIGHLANDS HEALTH CARE CENTER	28,182	24,786	6,676		\$0.00
REGINA COMMUNITY NURSING CENTER	16,104	15,377	13,312	С	\$2.28 \$30,351.36
REGINA COMMUNITY NURSING CENTER	44,286	42,165	31,687		\$0.00
REST HAVEN-YORK	61,122	54,834	22,610		\$0.00
RICHBORO REHAB AND NURSING CENTER	30,012	27,834	17,914		\$0.00
RIDGE CREST NURSING AND REHAB CENTER	53,436	47,493	35,664		\$0.00
RITTENHOUSE CARE CENTER	54,900	32,042	27,355		\$0.00
RITTENHOUSE PINE CENTER	43,920	40,658	27,207		\$0.00
ROCKHILL MENNONITE COMMUNITY	32,940	29,642	10,119		\$0.00
ROLLING HILLS MANOR	21,960	18,318	15,567		\$0.00

ROLLING MEADOWS	44,286	38,462	29,775		\$0.00
ROSE VIEW CENTER	45,018	42,942	20,105		\$0.00
ROSLYN NURSING AND REHAB CENTER	43,920	40,459	24,238		\$0.00
SACRED HEART MANOR	62,586	61,192	35,806		\$0.00
SAINT ANNE HOME	45,750	43,395	26,259		\$0.00
SAINT ANNE'S HOME	44,286	41,576	20,754		\$0.00
SAINT BARNABAS, INC	62,780	55,076	41,557		\$0.00
SAINT FRANCIS COUNTRY HOUSE	99,918	94,923	59,863		\$0.00
SAINT FRANCIS HOSPITAL OF NEW CASTLE SNC	16,470	13,240	5,071		\$0.00
SAINT FRANCIS NURSING CENTER CRANBERRY	54,900	44,268	24,710		\$0.00
SAINT FRANCIS NURSING CENTER, EAST	54,900	42,136	31,918		\$0.00
SAINT IGNATIUS NURSING HOME	64,416	59,756	50,253	D	\$1.38 \$69,349.14
SAINT JOHN LUTHERAN CARE CENTER	113,460	85,303	48,580		\$0.00
SAINT JOHN NEUMANN NURSING HOME	82,716	79,406	43,420		\$0.00
SAINT JOSEPH HOME FOR THE AGED	13,870	12,897	8,019		\$0.00
SAINT JOSEPH VILLA	39,528	37,715	15,337		\$0.00
SAINT JOSEPH'S MANOR	116,022	87,691	46,761		\$0.00
SAINT MARGARET SENECA PLACE	65,880	57,162	29,441		\$0.00
SAINT MARY'S MANOR	43,920	42,030	17,310		\$0.00
SANATOGA CENTER	47,580	41,215	23,903		\$0.00
SARAH A REED RETIREMENT CENTER, THE	38,796	36,108	18,096		\$0.00
SAUNDERS HOUSE	65,700	58,154	19,206		\$0.00
SAYRE HOUSE, INC	18,300	18,102	9,244		\$0.00
SCHUYLKILL CENTER	69,540	65,371	39,141		\$0.00
SETON MANOR INC	43,920	37,211	20,968		\$0.00
SHADYSIDE NURSING AND REHAB CENTER	54,750	49,325	38,683		\$0.00
SHERWOOD OAKS	21,960	18,477	618		\$0.00
SIEMONS' LAKEVIEW MANOR ESTATE	43,920	37,874	26,411		\$0.00
SILVER LAKE CENTER	63,684	61,145	48,901	F	\$0.48 \$23,472.48
SILVER STREAM CENTER	43,920	39,406	33,461	D	\$1.38 \$46,176.18
SKY VUE TERRACE	36,500	29,101	22,379		\$0.00
SLATE BELT NURSING AND REHAB CENTER	46,116	45,045	23,576		\$0.00
SMITH HEALTH CARE, LTD	13,542	12,933	6,352		\$0.00
SOMERSET HOSPITAL CENTER FOR HEALTH	6,588	5,235	508		\$0.00
SOUDERTON MENNONITE HOMES	22,326	21,963	7,245		\$0.00
SOUTH FAYETTE NURSING CENTER	28,182	17,101	15,770		\$0.00
SOUTHWESTERN NURSING CENTER	43,188		22,936		\$0.00
SPRINGS AT THE FOUNTAINS, THE	46,848	43,154	23,444		\$0.00
SPRUCE MANOR NURSING AND REHAB CENTER	73,200	68,574	51,659		\$0.00
STAPELEY IN GERMANTOWN	43,920	41,940	31,321		\$0.00
STATESMAN HEALTH AND REHAB CENTER	36,966	34,181	23,948		\$0.00
STEPHEN SMITH HOME FOR THE AGED	64,004	46,730	38,950		\$0.00
SUGAR CREEK REST	41,724	37,376	21,183		\$0.00
SUNBURY COMMUNITY HOSPITAL SNF	10,614	9,632	5,839		\$0.00
SUSQUEHANNA CENTER	65,880	45,566	35,925		\$0.00
SYCAMORE CREEK NURSING CENTER	43,920	41,586	27,211		\$0.00
TANDEM HEALTH CARE OF CHESWICK	46,848	34,350	23,145		\$0.00
TAYLOR NURSING AND REHAB CENTER	58,765	57,748	47,897	Е	\$0.68 \$32,569.96
TEL HAI RETIREMENT COMMUNITY	50,735	49,478	13,652		\$0.00
TEMPLE CONTINUING CARE CTR-ROBINSON	174,948	167,083	136404	Е	\$0.68 \$92,754.72
TEMPLE CONTINUING CARE CTR-SLEY	21,960	20,972	21,124	Α	\$5.70 \$120,406.80
THAELER HEALTH CARE CENTER	22,326	20,770	4,262		\$0.00
TREMONT HEALTH AND REHABILITATION CENTER	65,880	54,668	40,519		\$0.00
	•	•	•		•

TUCKER HOUSE	65,880	61,821	53,906	С	\$2.28 \$122,905.68
TWINBROOK MEDICAL CENTER	45,260	42,683	29,063		\$0.00
VALENCIA WOODS NURSING CENTER	33,215	32,197	24,847		\$0.00
VALLEY MANOR NURSING AND REHAB CENTER	65,880	62,155	50,471	F	\$0.48 \$24,226.08
VILLA SAINT JOSEPH OF BADEN INC.	43,920	40,246	22,848		\$0.00
WALLINGFORD NURSING AND REHAB CENTER	75,555	73,263	42,245		\$0.00
WASHINGTON HOSP TRANSITIONAL CARE UNIT	6,222	5,309	0		\$0.00
WAYNE CENTER	43,188	39,392	23,981		\$0.00
WAYNE WOODLANDS MANOR	44,286	39,090	27,552		\$0.00
WEST HAVEN NURSING HOME	64,782	48,502	29,968		\$0.00
WEXFORD HOUSE	75,190	53,182	38,986		\$0.00
WILLIS NURSING CENTER	27,084	20,420	15,189		\$0.00
WILLOW TERRACE	47,580	32,211	19,783		\$0.00
WILLOWCREST	37,332	24,966	2,318		\$0.00
WILLOWCREST	37,332	24,966	2,318		\$0.00
WOODLAND CENTER FOR NURSING	47,580	29,690	23,543		\$0.00
WYNCOTE CHURCH HOME	21,228	18,623	11,357		\$0.00
ZENDT HOME, THE	15,738	13,899	12,054		\$0.00
ZERBE SISTERS NURSING CENTER, INC.	31,842	30,588	15,973		\$0.00
ZOHLMAN NURSING HOME	61,488	45,787	29,147		\$0.00

Last Modified: 02/07/2002